x, v o 95 QA {“’“‘”6:0

8 o Tzl 4 5 2 4o
2x-y-b=0

7 545 B W, a + b O] ZLS TEHE?

@+ -3 0o @ 4 ® 6




2ax + 6y = 25 4x — by =
La=2,b=-6,a-b=




FANE F W ARE 1, R A
AR 65] o1t e e 400

@ 4714
()127}H7]

@ 374
@ 9714

29] w529 feo] Lho W
@ 7714

29 |51 2,4, 6 ©& 37}4]
6°] oF:

3x4 =12(7H)

1,2, 3,628 47}7o|B &




4.

27 —/] —.4— Al 94 LEH =2
H /\]_o = o/‘] ] 174 ‘4’
s

G

@ 2744 ©)
@ 5714 ® o
6 714

@ 4714

(1, 3), (3, 1), (2, 2)




to] 228 IEY 1

5

bx+3y=6

7} (4, =2) °10t. oW, ab 2 L

o9

}4.

el

ol

@ 2 3)3 @ 4 ® 5

D1

=2

Ex=4,y

sflo] &

94

]

=~

‘I_

o
™

(4, =2)7}
o]

4 —2a = 2a
4b-6=06

ab=3




7 (-1, 3)

H

Ol WA ax+y =3, 3x—by =62 wFP| 2}

)
T

@ 1 ® 2

® o0

~3-3b=6
—-3

a=0,b

-3

La+b=0-3




7172 E 0] FALYE S A o) HA A F FAFY oA L E9]
S a2 FASINA e 0 $8 b HT B W, ax—b =0 9
7t 27t 2 FEL9

=2 5 a2




nl

A4 A e 0] 28 A a, b 2t 5

Mol FAGE £ W
ol uf. 20— b= 0 0] & 88

1 1 5 1 5
0; @ oz o © 5

~&B

FAIE 7 W AAA 42 Z29 £ 6x6 =36 (1) ]2
2a = b B WEAF|E (q, b) & &AL (1, 2), (2, 4), (3, 6)

o 3 Aol B R T gL




oh2 2"oA M 1+ aABC 9] WAlolt}. /IBA =30°, «C =70

o, /x 9] 277

A

707

ve)
Q

@ 20° @25° ® 30° @ 35°

® 40°

o Q]
=

/B=2x30°=60°
LA =180° - (60° 4 70°) = 50°

leZIAB:%X50°:25°




10. g IFoNA A I+= AABCO| Yoot /CAB = 50°, /ABI =40°
A uff, /x 9] 2717

@ 5° @ 10° ® 15° @ 20° (@)25°

S5 ~
AR o] Al Y2he] oF2 180°0] 2 &2
/ABI = /IBC, /CB = /ICA
2/x =180° - (50° + 80°)
S lx=25°




11. 9335 y =254 b o TR} 23} 22 1), S F

Z19] 7|9

yl\

of I &= A1, 2, 3 AREHS AT

o] 2 ;e y FHe) gho] &polct,

@)
© ol Z#me) x glol Z7tetd y ghe stk
©
@ ©] 2Ty = —2x+ b < FY3}ct.

O© =T @ 174 ® 278

@3 A ® 47

© o] e x gho] F7FSHE y RS F7He,
© ol e =L y A2 ol FLolnt,
@ o) TAEE » o 205 o FHIA 4




S 71=717F &AL, y Aol thE Al dA

@) =E aeme A= oy g,
@ JYmrjeE Az F ¥ Rk,
® Al 2HZE x 5 FIoIA Pt
@ A 2T % A oo ez

® Al 2 BT AR

rr
)

=

[e]
A&

S}

=

4=9] e o vigt

At




o
o

o

o

@ 15714

@97t

® 374
@ 21714

® 30714

6(7FA) 01 B& 156 = 9(7}

X3
1=

2

X

<

o A
299 Hx

I

&

i
25




A

® 2807}

@ 2707HA

@)350717

@ 2107}4]

@ 320714

173
[e]
©
7% 5% 10 = 350 (7}A])




15. AB 5 7H0] 4915 SA0) @A b 0] 58 A7t a, b2t @
o, WA ax—b =0 ] 7k 10] Bz A9 59

@ 1714 @ 2714 ® 3714
@ 4 7}A] ®)6 714

SRLEERESED
A (LD, (2.2), (3.3),




16.

FAABAS G502 FHEA T, A2 UL FEx F
0] 28 ) o B, 2x 4 ay = 12 7} Sl A9 28

D)271A @ 3714 ® 4714
@ 574 ® 6714

WA e
st

x=6-2y °|B2 x,yo] =A% (4,1),(2,2)
L 27H4]




17. o 879 24 WEsHE AZHg ABCD Foll 4 BaA Aol
HE AL BT n2?
A D
0)
B C
"I.E:D_C::Scm,mzmzfmm
L. AB = BC = 5cm, ACLBD
. AB //DC, AB = DC = 5cm
E.ﬁ:O_D:&:m,@:m:ficm
@ 7, v @ v, & (O ==




FE

18. Thg 27 WEslE DABCD % AP AL B 7279

@ AB = 12cm, BC = 12cm, CD = 7em, DA = 7em
@AAZ[C,E//C_D

® /A =80°, /B=100°, /C = 100°

@ AB =8cm , CD = 8cm , /DAC = 60° ,/BCA = 60°

@)= 1714 AC BD o @42 0 23 @ w, A0 = CO = sem

@ AB =CD, AD = BC
® (A =/C, /1B=/D
@ AB = CD, /BAC = /DCA




